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(TEES B s » L9555 5K 610
et 145 - 2 IR B 9.91 m s
g%éﬁﬁ o o146 - 1 H 535 m 140 5 443 i fERTHIAS 2
g%ﬁﬁ o 146 - 2 H 79 m | 140 6 577 mi |fEmiHs: 5 2
g%éﬁﬁ o 146 - 3 H 3.30 m | 140 5 443 m fERTHIAL 2
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BETZTL o 148 - 2 H 52 m 140 6 577 mi |fEmiHs: 5 2
TR
R 5 3 5 3 5
- o149 - 1 H 578 m | 141 4 1 266 m
65 7 204 m
R 5 3 . 5 5
- B 149 - 3 S Hi 135.32 m | 142 1 111 o
ITEES B e > »
e i 149 - 4 T Hl 96.08 m | 142 2 79 m
PR o 149 - 5 FH 159.93 mf = 17 8 331 mi fERTHIAL 1 %
ITEES B s »
e i 150 - 1 H 712 m | 140 2 473 m
R 5 3 . 5 5
- B 150 — 2 S Hi 107.80 mi = 80 14 80 m
ITEES B » ~ .
e i 151 - 1 MEAE Hh 407 m | 143 2 2 471 i fERTHIAS 1
R 5 3 . 5 3 5
- B 151 - 3 S Hi 227.58 nmi = 143 2 1 169 m
T 3 152 - 1  Hh 119.22 ni 143 5 166 mi fERTHIAL 1 4
R 5 3 . 5 5
- B 152 - 3 S Hi 134.04 m = 143 7 112 o
T 3 152 - 4  Hh 119.35 mi = 143 6 166 mi fERTHISL 2 4
PR 152 - 5 FH 26.64 ni @ 143 6 166 ni fERiHIAL 2 %
T 3 152 - 6  Hh 33.52 mi 143 6 166 mi fERTHIS. 2 4
PR o152 - 7 FH 56.16 ni 143 5 166 ni fERiHIAL 1 %
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?E’Tﬁﬁ F s m m  ERI
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T 3 162 - 1 JMEFE M 1011 { | 144 2 10733 ni |(fEmijHIS: 34
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T % 162 — 2 MEFE Mt 3.30 m | 144 2 10733 m fERiHAL 34 4
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T £ 163 - 1 JMEFE Mt 6.61 mi | 144 2 10733 ni |(fERijHIS: 34 E
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et 165 - 1 2] 388 m 139 9 251 m
R 5 B > >
e 165 - 3 &3] 221 m 30 6 205 nt
[EIEES B > B >
et 165 - 5 2] 126 m | 141 6 113 m
R 5 B e > B >
e 165 — 6 £ 268.32 m | 141 6 244 nf
[EIEES B . B >
et 166 - 1 2] 66 m | 139 10 45 m
T % 166 — 2 MEFE Mt 79 {144 2 10733 m fERiHAL 34 4
?Eﬁﬁ x m m | fERI
[EIEES B . B >
et 167 - 1 2] 476 m 140 9 157 m

140 9 - 195 m
[EIEES B > 2 | ppae
et 167 - 2 H 85 m | 140 6 577 m  JERTHIA. 5 %
R 5 B e > >
e 167 - 3 £ 219.02 ™ | 141 3 172 o
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] 168 HEREHY 138 P o144 3 391 of JERTHISE 1 4
?E’Tﬁﬁ Fs m m  ERI
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e A o169 - 1 Eayiil 662.39 m 39 11 477 m

[EIEES B . B >

e 169 - 2 M 136 | 141 1 2 102 mi

R 5 B 5 >

e A 169 - 3 M 185 n | 139 4 134

[EIEES B . B >

i 170 - 1 M 360 | 139 3 2 274 m

R 5 B o 5 >

e A 170 - 2 Eaviil 497.69 ni | 139 2 391 m

[EIEES 3 e . B >

A 170 - 3 Eayiiil 242.36 ni | 139 3 1 184 mi

R 5 B 5 >

e A Foo171 1 M 680 n | 139 5 524 m

T £ 171 - 3 EHh 177.79 mi | 141 16 - 2 178 mf fERiHst 1 &
T o171 - 4 FHl 152.93 ni | 141 16 - 1 330 i fERiHIA: 2 &
T £ 171 - 5 EHh 177.78 i 141 16 - 1 330 m fERIHIA: 2 E
T 171 - 6 FHl 98.90 nmt 141 16 - 1 330 i fERiHIA: 2 E
T 3 o171 - 7 EHh 54.03 m | 141 16 - 2 178 mf fERiHst 1 &
R 5 B 5 B >

e A o172 - 1 M 287 n | 139 6 2 208 m

[EIEES B . >

e o172 - 4 M 221 | 141 8 200 mi

R 5 B 5 B >

e A 172 - 6 M 59 n | 139 6 1 41 m

[EIEES 3 e . >

A 173 - 1 FEHt 145.45 i | 141 9 128 mi

R 5 B o 5 >

e A 173 - 5 Eaviil 323.00 nt = 141 12 301 m

[EIEES 3 e . >

A o 173 - 7 FEHt 244.00 ni | 144 10 216 m

R 5 B o 5 >

e A 173 - 8 Eayiil 304.82 nt | 141 11 131 ot
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gg‘ﬁ o173 - 9 Tl 181.81 nf | 141 10 86 ni
141 14 73 nf
gg‘ﬁ 173 - 10 T 161.98 nf | 141 15 142 nof
ggﬁﬁ B 174 - 6 T 155.37 nf 144 9 137 nof
gg‘ﬁ 175 - 1 F 380 i 139 7 308 nf
ggﬁﬁ B 175 - 3 T 399.10 nf = 141 7 329 nf
gg‘ﬁ o176 - 1 Tl 243.60 nf | 139 12 - 2 193 nof

ggﬁﬁ B 176 - 2 T 256.71 mf | 139 13 - 1 197 nf {CRTHESL 1 4K
gg‘ﬁ 176 - 3 T 207.81 nf | 139 12 - 1 155 nof

ggﬁﬁ B 176 - 4 T 24.08 nf | 139 13 - 1 197 nof fCAfHISs 1 %
gg‘ﬁ 176 - 5 T 233.07 nf | 139 13 - 2 151 nof
g%%( o177 - 1 T 423.14 of | 139 11 309 nf

gg%ﬁ B 177 - 3 IR 79 m %%9@5§§?f

g%%( MoO177 - 4 ARFEE 23 of %?%ﬁ%‘f
g%%{ 177 - 5 T 59.50 nf 34 10 77 nof
g%%( 178 i 552 i 65 6 294 nd
140 4 51 nf

g%%( B 179 T 277.00 i =~ 65 2 422 m | fERTHISS 2 2

g%%{ o179 - 1 EHh 76.03 m | 65 2 422 i JERTHISS 2 E
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g%%( 179 - 4 UNIR T3 29 m %%@%5?%%5
g%%{ 180 i 238.01 mi 65 2 422 o JERTHISS 2
g%%( 181 £t 152.06 nf = 85 9 - 125 nd
g%%i 182 £ 254.54 nf 65 1 185 nf
g%%( 183 £t 36.36 nf | 57 10 30 nf
g%%i 183 - 1 £ 182.21 of = 85 9 - 151 nf
g%%( 183 - 2 N FRE 3.30 o ?’E%Q’D‘r’ifﬁii‘f
g%%i 184 - 1 £ 161.48 nf = 57 5 127 nd
g%%( 184 - 2 N FRE 9.91 ni ?’E%Q’D‘r’ifﬁii‘f
g%%i 185 £ 314.04 nf = 40 16 276 nf
g%%( 186 - 1 £t 172.66 nf = 57 12 143 nd
g%%{ 186 - 2 b 70.94 m = 33 9 - 340 i fERTHRAL 1 4
g%%( 186 - 3 £t 70.44 of | 57 7 401 nf fEAiHISL 1
g%%i 187 £ 175.20 of = 57 8 127 nf
g%%( 188 £t 472.72 nf | BT T 401 nf fEATHISL 1
g%%i 189 - 1 55N 35 nof | 38 13 34 nf
g%%( 189 - 5 £t 24.10 nf =~ 58 9 10 of

58 10 10 nf
g%%( 190 £t 339.57 nf = 57 4 387 mf  fERTHISL 1 4
g%%{ 190 - 1 Tl 10.00 m 18 3 8 m
g%%( 190 - 2 £t 226.15 nf = 57 4 387 of fERTHISL 1 4
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g%%( 190 £t 9.46 nf 58 20 45 o fERTHISN 1
g%%{ 192 b 79.86 m 55 13 200 oi ERTHISS 3
g%%( 192 £t 35.83 nf = 58 20 45 o fERTHISN 1
g%%{ 193 b 79.10 m = 57 3 363 i fERTHBAL 1 4
g%%( 193 £t 165.42 nf = 55 13 200 nf fEATHISL 3
g%%{ 193 b 6.43 m 55 13 200 o fERTHISS 3
g%%( 193 £t 16.79 nf = 55 13 200 nf fEATHISL 3
g%%{ 194 i 386.77 m | 57 3 363 i fERTHBAN 1 4
g%%( 195 £t 343.80 nf | 33 9 - 340 of  fERTHISL 1 4
g%%{ 196 b 238.01 mi 66 3 410 of  fERTHISS 1 %
g%%( 197 £t 223.20 nf = 57 9 221 of fEAiHSL 1
g%%ﬁ 197 ISR 3.30 m %%9@5§§?f
g%%( 197 £t 48.33 i | 57 9 221 o | fERTHISL 1 4
g%%i 198 £ 246.26 ni = 85 7 192 nf
g%%( 198 UNIR T3 13 o %%@%5?%%5
g%%ﬁ 198 ISR 6.61 ni %%9@5§§?f
g%%( 198 £t 77.31 of | 85 9 - 63 nf
g%%i 199 £ 219.50 nf 65 13 183 nf
g%%( 199 N FRE 6.61 ni ?’E%Q’D‘r’ifﬁii‘f
g%%{ 200 b 267.76 m | 141 6 - 430 of  {ERTHISS 2
g%%( 201 £t 284.29 nf = 17 8 331 of fEATHISL 1 4
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g%%( 202 - 1 £t 155.30 nf | 139 10 - 113 nf
g%%ﬁ 202 - 2 ISR 82 ni %%9@5§§?f
g%%( 202 - 3 £t 198.34 nf | 139 8 176 m  fEmTHIAL 1 %
g%%{ 202 - 4 b 49.66 m | 139 8 176 ni fERTHIZL 1 4
g%%( 202 - 5 £t 155.32 nf | 141 6 - 430 of fEATHISL 2
g%%k 203 - 1 £ 1004.00 of = 39 9 613 nf
g%%( 203 - 2 £t 30.74 of | 141 6 - 430 of fEATHISL 2
g%%{ 203 - 3 b 27.27 m | 17 9 29 o fERTHISS 1
g%%( 204 £t 621.48 nf 145 6 - 525 nf
g%%k 206 £ 552.06 nf =~ 65 9 343 nf
g%%( 207 - 1 £t 264.46 nf = 66 3 410 ot fEATHISL 1
g%%ﬁ 207 - 2 ISR 6.61 m %%9@5§§?f
g%%( 208 £t 370.24 nf = 66 4 113 nd

66 10 201 nf
g%%( 209 £t 370.24 nf = 66 1 310 nf
g%%k 210 - 1 £ 209.39 nf 58 8 180 nf
g%%( 210 - 2 £t 183.98 nf | 58 11 153 nf
g%%k 213 £ 462.80 nf = 58 4 203 nf

58 16 172 nd
g%%k 215 £ 389.12 nf 58 3 195 nf

58 18 126 nf
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g%‘;—k B 216 - 1 £t 416.52 nf = 59 5 228 nf
59 13 118 nf
g%‘;—k o 216 - 2 £ 132 nof 59 14 110 nd
g%%i Foo217 - 1 £ 284.29 nf 59 6 203 nf
59 11 85 nf
g%%i Foo218 - 1 £ 183.90 nf 59 12 187 nf
g%‘;—k Fo 218 - 2 £t 231.40 nf | 59 10 188 nf
g%%i Fo219 - 1 £ 238.01 nf = 62 4 - 1 247 nof
g%‘;—k B 220 - 1 £t 126.79 nf | 60 5 - 6 116 nf
g%%{ B 220 - 2 b 131.31 m | 61 6 146 ni fERTHISL 1 4
g%%( 220 - 3 £t 18.53 nf | 61 6 146 of fERTHISN 1
g%%i B 220 - 4 £ 211.83 nf = 60 6 - 1 199 nf
g%‘;—k B 220 - 5 £ 404 nof 60 6 - 2 386 ni
g%%{ 220 - 10 b 2.94 m | 61 7T - 1 146 m fCRIHIS. 1 &
g%‘;—k 220 - 11 £ 115.96 nf = 60 5 - 5 110 nf
g%%i B 220 - 12 £ 115.96 nf = 60 5 - 4 110 nf
g%‘;—k 220 - 13 £t 115.92 of | 60 5 - 3 110 nf
g%%i B 220 - 14 £ 115.93 nf 60 5 - 2 110 nf
g%‘;—k 220 - 15 £ 115.92 of | 60 5 - 1 110 nof
g%%i Foo221 £ 39.66 nf | 38 14 33 nf
g%‘;—k Boo222 -1 £ 347 of 59 7 257 nf
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g%%( 222 - 2 £t 4.29 nf = 62 6 - 328 mi  {ERTHISN 1 4
g%%{ 223 i 47.27 m | 58 5 397 o fERTHRAL 1 4
gg%z 224 £t 439.66 nf = 58 5 397 of fERTHISL 1 4
g%%i 225 £ 247.93 nf 58 7 167 nd

58 12 38 nf
g%%i 226 £ 542.14 nf =~ 59 8 218 nf

59 9 218 nf
g%%{ 227 i 290.90 mi = 66 8 424 of  JERTHISS 2
gg%z 228 - 1 £t 101.88 nf = 66 8 424 i fERTHSL 2
g%%{ 228 - 2 b 95.86 m | 66 8 424 o JERTHISS 2
g%%( 228 - 3 UNIR T3 6.61 m %%@%5?%%5
g%%{ 228 - 4 b 53.88 m = 66 5 169 ni fERTHISL 1 4
gg%z 228 - 5 £t 184.89 nf = 66 6 - 153 nf
g%%i 228 - 6 £ 171.48 nf = 66 6 - 141 nf
gg%z 228 - 7 £ 162.02 nf = 66 6 - 130 nf
g%%i 228 - 8 £ 157.63 nf = 66 6 - 130 nd
g%%( 229 - 2 UNIR T3 13 o %%@%5?%%5
g%%i 230 - 2 i 1683  nof 145 1 1143 nof
g%%( 230 - 3 UNIR T3 36 m %%@%5?%%5
g%%i 230 - 4 H 166 of @ 67 2 124 nof
gg%z 230 - 5 £ 29 o 28 12 24 nf
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g%%( 230 £t 441.04 nf = 56 16 352 nf
g%%ﬁ 232 H 827 nf 67 3 610 nf
g%%( 232 £t 201.80 nf = 56 17 - 159 nf
g%%ﬁ 232 H 44  of 98 14 37 nf
g%%( 232 £t 83.82 nf 56 17 - 66 nf
g%%{ 234 b 919.00 mi = 145 8 693 o {ERTHISS 1
g%%( 235 £ 1196  nf 145 4 794 nf
g%%{ 235 H 12 m 68 4 8 m
g%%( 236 £ 981 nof 67 1 671 nf
g%%{ 237 i 49  nof | 145 10 - 743 o JERTHRAL: 1 4
g%%( 238 £ 1133 nof | 145 10 - 743 of  fERTHISL 1 4
g%%ﬁ 238 H 204 nf 145 6 - 150 nd
g%%( 239 £ 793 nof 145 9 603 ni fEATHISL 1
g%%ﬁ 239 i 158 nf 145 9 603 nmi | fERTHISS 1 45
g%%( 240 £ 1147  nof | 145 3 884 nf
g%%ﬁ 240 ISR 3.30 nf %%9@5§§?f
g%%( 240 ARFIER 148 nf ?’E%Q’D‘r’ifﬁii‘f
g%%ﬁ 241 BEpN 82 nf 2{:?%%&:; 9
g%%( 242 £ 829.12 nf = 52 25 7019 nf fERTHISL 8
g%%( 242 £t 165.28 nf = 52 25 7019 nf fERTHISL 8
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g%%( 242 - 6 £t 99.17 nf = 52 25 7019 nf fERTHISL 8
g%%{ 242 - 17 MERE H 39 52 25 7019 ni  fERTHISL 8 4
g%%( 248 - 1 £t 112. 39 320 16 - 252 nf
g%%k 249 - 1 £ 33.05 94 1 170 nd
gﬁf . 256 — 1 £ 842. 97 64 5 834 nf
gfé . 257 - 1 £ 517 68 1 448 i fERTHSL 2
gﬁfm 257 - 3 i 0. 68 68 1 448 i RIS, 2 4
gfé . 257 - 4 £ 19 68 1 448 | fERTHISL 2 4
gﬁfm 258 - 1 £ 246. 63 61 5 176 nd

61 9 106 nd
gﬁfkﬂi 258 — 4 b 140. 71 61 7 - 146 ni fERTHIZL 1 4
g%kﬂi 258 — 17 £t 14. 00 145 8 693 ni fEATHISL 1
gﬁfm 258 - 8 £ 23. 69 60 9 - 20 nf
gﬁf\ . 258 - 9 £ 36. 37 62 6 - 32 nf
gﬁf . 258 - 10 i 65 60 7 58 nf
g%kﬂi 258 - 11 £t 140. 41 61 7 - 150 nd
gﬁfm 258 — 12 £ 135. 88 61 8 142 nd
g%kﬂi 259 - 1 £ 91.84 60 2 331 of fERTHISL 2 4
gﬁfkﬂi 260 T 89. 65 59 16 279 of  {ERTHISS 1
gﬁf\ . 260 - 1 £t 207. 40 59 16 279 of fERiHSL 1
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T 3 o 261 - 2 EHh 245.75 ni 60 2 331 m |fEETHIS: 2 ZE
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T o 261 - 3 £l 17.88 mf = 60 2 331 m |fEETHIA: 2 2E
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[EIEES B . > B >

e o 261 - 4 EH 113.31 m 93 3 1 104 m

R 5 B > B >

N o 262 - 1 &3] 188 m 61 1 1 135 nd

[EIEES B . B >

e o 262 - 2 2] 178 m 61 1 2 135 m

R 5 e > >

N 263 £ 515.70 nt 60 1 384 nt

gﬁfm o 264 Pl 165 m 57 14 109 mf fERiHIAL 1 %
R 5 > B >

e o 265 HEFE Hh 69 m 60| 10 2 49 nf

[EIEES ‘ > >

g 266 H 178 m 58/ 14 127 m

R 5 > >

N 267 & 429 m 61 14 295 nf

[EIEES ‘ > >

e 268 H 360 m 61 13 275 m

R 5 B e > >

N o 269 - 1 £ 254.54 nd 61 3 194 of

[EIEES B . > >

e 269 - 2 EH 99.17 m 61 2 75 m

R 5 B e > >

N o 270 - 1 £ 125.49 i 82 10 96 nt

[EIEES B ‘ . >

g o 270 - 2 Pt 125 m 82| 11 96 m

R 5 ‘ > >

N o271 Pl 198 m 61 12 151 o

T 3 o272 - 1 EHh 337.04 ni 62 6 - 1 328 m |fEETHIA 1 ZE
SN :

R 5 B e > >

N H o 272 - 2 £ 72.76 m 61 10 70 ot

[EIEES B . . B >

e F 272 - 3 EH 248.04 m 62 6 3 23 m

T o273 - 1 TR 6.61 m 64 4 1465 mi  fERTHIAS 5 4
SN * '
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T 3 273 - 3 MERE 3.30 m 64 4 1465 m |(fERTHIS. 5 &
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R 5 ‘ 5 5

e 275 vl 39 m 58/ 17 30 m

gﬁfkﬂi 276 Pl 72 m 68 3 416 m |fERTHIA: 8 F
T £ 277 TR 366 m | 64 4 1465 mi  fERTHIAS 5 4
SN *

gﬁfm 277 - 1 H 29 m 63 8 414 m fERfHIAL 2
T £ 278 TR 195 m | 64 4 1465 mi  fERTHIAS 5 4
SN *

gﬁfm 279 Pl 148 m 68 3 416 m fERTHIAL 8
gfé . 280 vl 95 m 68 3 416 m fERTHIAL 8
T 3 281 MERE 515 m 64 4 1465 m |(fERjHIS. 5 &
SN *

R 5 ‘ 5 5

e 282 Pl 214 m 90 4 169 m

gﬁfm 283 - 1 Pl 109 m 39 4 214 m fERfHIAL 1 2
R 5 3 ‘ 5 5

e 283 - 2 vl 82 m 34 3 63 m

ITEES B > »

e T 283 - 3 MEFE Hl 63 m 56 3 52 m

R 5 3 5 5

e 283 - 4 HEFE Hh 31 m 56 8 27 ot

T 3 284 T 307.00 nf 62 2 342 ™ fERTHIAL 1
ESIN :

gfém 285 vl 181 m | 64 3 413 i fERTHISS 2
gﬁfm 286 Pl 168 m 64 3 413 m fERfHIAL 2
gfém 287 vl 181 m | 64 3 413 i fERTHISS 2
gﬁfkﬂi 288 T 161.00 nf 62 2 342 ™ fERTHIAL 1
T £ 289 TR 238 m 56 4 547 ot | fERTHIAS 1
SN *
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e A 290 e 228  nf | 143 2 - 471 ot fERiTHISL 1
gﬁfkﬂi 291 A 277 m 62 1 192 m
gfé . 292 - 1 Al 316 nof | 64 2 245 nf
gﬁfm 292 - 2 £ 194.10 nf = 56 19 - 137 nf
(TEFS -
e A 292 - 3 T 1236.35 nf =~ 10 2 1468 nf fERTHISN 2 4
gﬁfm 292 - 4 £ 131.72 of = 56 18 - 93 nf
gfém 292 - 5 £t 194.11 of = 56 19 - 68 nf
56 18 - 68 i
gfém 296 — 1 & 161 of 60 4 - 123 nf
gﬁfm 296 — 2 i 161 of 60 4 - 123 nf
gfé . 296 - 3 & 34 of | 62 4 - 26 nf
gﬁfm 296 — 4 i 200  nf 146 3 119 nf
ITEES \
e 297 - H2985-F MEREHY 823 m 64 4 1465 i {ERTHISN 5 4
gﬁfm 299 i 198 nof 68 3 416 i | fERTHISS 8 45
gfém 300 - 1 £ 134.19 of = 64 6 - 142 nd
gﬁfkﬂi 300 - 5 b 262.89 m 10 2 1468 i fERTHIAL 2 4
gfé . 300 - 9 £t 134.90 nf = 64 6 - 142 nd
gﬁfm 300 - 10 £ 134.90 of = 64 6 - 142 nd
gfé . 302 - 2 £ 40.64 nf = 64 8 44 nf
giﬁ@— 370 - 1 £ 166.46 nf = 64 11 - 208 nf
g?jﬁ 370 - 5 £t 158.94 nf = 64 11 - 171 nd
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g%ﬁ 370 - 6 T 158.94 nf = 64 11 - 171 nof

ggjﬁ 371 - 1 FEHh 112.58 ni 10 2 1468 ni  fERTHISS 2
g%ﬁ 371 - 4 T 629.41 ni 64 10 618 nf

@% 373 H 1018  nf = 63 3 710 uf

g%ﬁ 374 HH 1431 i 64 1 1098 nf

ggjﬁ 376 ZEHh 396 m 64 14 779 o fERTHIAL 1 4
g%ﬁ 376 - 1 T 343 nof | 64 14 779 o fERTHIAN 1 %
ggjﬁ 377 - 1 JH 8.34 m | 64 12 10 ot

g?j@ 384 — 2 i 193 nof 63 8 414 m [ fERTHS: 2 2
@% 385 - 2 J B 9.54 i 64 13 12 of

g%ﬁ 386 - 1 T 861.00 nf = 63 5 932 mf {ERiHA: 1
ggj@ 387 HH 723 nof | 63 4 1497 o fERTHIAL 2 4
g?j@ 388 i 654 o 63 4 1497 m  fERTHISL 2
ggj@ 389 HH 707 nof | 63 4 1497 o fERTHIAL 2 4
g%ﬁ 390 - 1 MEFe 1 632 i 63 7 624 nf

ggj@ 391 HH 204 i 63 8 414 of  JERTHISS 2
g%ﬁ 396 - 1 i 614 o 63 9 631 nf

ggj@ 396 - 3 IR 138 m %%9@5§§?f
Eﬂﬁ" 397 JHEAE I 611 m | 144 1 2036 m fERATHISL 4 4
FHP

ggjﬁ 398 EHh 491.06 m | 144 1 2036 ni fERTHIAL 4 %
g%ﬁ 399 T 439.66 nf = 56 11 1105 of fERiHst: 3 4
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EES -
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] -
b JF 401 T 168.59 mi = 56 11 1105 i fERTHIA: 3 4
EES -
b 402 £ 128.92 i 56 11 1105 of fERiHst: 3 4
] - ,
T ] ) 403 - 1 THl 308. 06 ni 52/ 19 642 i JERTHISL 1 E
EES - 2
] ) — 403 - 2 £t 1694.66 ni 56 21 1695 o fERTHIS: 2 4
] - ,
e ] ) 403 - 3 T 8120. 73 ni 56 1 9634 i FERTHISL 6 4
EES 4 - 2
] ) — 03 - 4 £t 84.62 mi | 56 1 9634 m fERATHISL 6 4
] - ,
T ] ) 403 - 5 T 541.55 m = 52 16 - 757 i fERTHBAL 1 4
EES - 2
] ) — 403 - 6 £t 324.16 M 52 15 943 mf {ERHIS: 3
] - 2
e ] ) 403 - 7 THl 411. 96 m 52/ 20 965 ni fERTHISN 1
EES -
] ) — 403 - 8 £t 426.31 nmf = 52 17 1434 of fERTHIS: 3
] - ,
e ] ) 403 - 9 T 600.50 mi = 52 17 1434 o fERTHIAL 3 4
EES -
] ) — 403 - 10 £t 316.25 mi = 52 16 - 848 mi {ERiHIS: 6
] -
T ] ) 403 - 11 THl 493.14 m 52 18 862 ni fERIHMISS 1
EES -
] ) — 403 - 12 £t 110.58 mi = 52 16 - 848 mi {EHiHIS: 6 F
] - ,
T ] ) 403 - 13 T 484.93 mi 56 10 1091 i fERTHIAL 2 4
EES -
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